"v o  RER* 322 HEFF

PEAROEQ* O AP FFOR LB R
0.5(%) (Wiw) ¥ & = 44 (GR)
o , il R wE || L |F2E
i (%) (%)
0% SR b AR R T AF AT LI
40-60 P 4 % ERAG
aTl= & o RS 3
‘B g1
AR
4% T R jEAT 24 ¥ ow i
4 1 50 | pE o e
AR IS Z & 15
‘B 3 ¥
T ow
f 0 TR
kI 4w
otk i -
ks |k % f |50 s R 24 1. 445
£ P 24 ]
2=
& & 15
3 #cH
T
;E’J\';L
éf?"fr';}‘;
i o
2. T
fa 12
* oo
BFET (s 60 27 fateie 21
3+ X wx b o3
2] Ko
15 >
1. G E 2
o RIE o
B iz [VEusE 60 & 7 AL 15




wn | A S
l:: Ji’j;?i T Tﬁ O ERR | I %; i%: b | aiEm
£ (%) (=)
=4 i %
1=x ,%‘;_z.e?
e > Flig
G E
BIE o
L F - s (60 2 T T 14 15 B E 2
il TEE AR
FAF #1x o i -
FAte |sAEs |60 o7 T 14 15
ﬁ%éﬁ Z"L‘F" X iEw
o o
BIWF |Hiena 60 27 48 15 14 P
E s X i b 35
BE | (60 27 1 NPT
" Y
KIRE S
Xy z;.“_g,_
Z o
2. wE
* Flig
K Iug
&R
oo
3. JEF
S L
9 x
(K%
EAN -
15 = )
2k 35
l;_j#_‘- o
HE s (60 2T " T
¥ Hhfa
ELRER]
*6%—
%o




kb
»
Ay
vy

¥

£ 2

Fh |, f wE e
I’”A g o Tﬁﬁ ®r S| B ‘ Jedp | AR ER
e i % B R

(

(%) (=)

K Ew
ho R
Mo

3. I EF
I
w9 X

;B
15 =)
%k
Z;:%_o

4, TH

K

13

Nl
o]

Sie
8
e
e
T
Wm‘

60 = 7 At 21

i
o
&

X

Y

o

=
i
! -—
S
0‘1‘\
o]

EEE
b
o R e
S TR 1 ¥ g
L E 3 BB e
1= %%
e x Flig
SN
,ﬂ,}%} °
L3 |mgs (60 2 7 Hhg W 15 L wEe
L E |8 HoEE 1 > Flig
i = ks
n R
o

no

o

|

ERE
© $ W
MO W

~~
-3“%
9
&




-t
»

Ay
oy

' wE % 2
= _EE , e
. i pEd | AR | . e | AR EAR

(=) (=)

}{iafi

& 15
5

ko
N
la)
s
o
B
‘,J,‘ﬁ'g

2
Rk
¢l
5
g

J
e

(

¥

£ B
15 =)

o
¥
&

=
# p

"

[

| [segs [60 2 7 t 4

.
%

[N
=]
=

= e

H
(@) ]
[N

N
&|

=

&
2
=N
&)
i

~ b
B SO
W TRE O

=

=X o

N
‘_ﬁé@
o

B

o

]

#
© ¥
M

Yy

-3;;,
o
&|

£

R1 kg

[EEN
a1
M

—

ik

5
i

ST 60 2 T 15 1.

Fo= | W

S
5
%
B SF R
=1 -E‘-\h 5}«‘

!

o

&k

\
N z‘s‘

-~
(R
““\1‘ T\xlat L

=

N
o

&|
PRI

w
P ﬁ; =1
w R %

M

I

#
© 5

G 5‘?7 N\
o

M =

NI

C L

it

F

S |60 2 T 15 1.

JRES

)
~5f
H
O
EROR




kb
L2

Ay
vy

X5 ;;&;3‘

£ 2

T 3 25 jg x5 jg
ﬁ% & 5 # ﬁ% @ * gy | IR ? &‘ Y B
“ A =3 CERE

Ik

(=) (=)

27 f4g |9 27/ TAHF A W B (3
s o ) 5 2 4k
1=k e AR E
¥

i
=

o
&

h‘l{\_zﬁx
- % oW
7o

S

—

fon

‘:;.‘
T
o

(&
s
_\7\:7

4y
o
W-ﬁ
e
5

60 = 7 fhie s 21

=

Jegt

AABEE (60 2 7




kb
L2

Ay
vy

{;%"

£ 2

a7 P E2 sy |

l? 47; Lﬁ ﬂ; 5 % 7f B % | T ’w & ‘& éf 2 gy AREIR
¥ o = = =k

14 f?‘ L 7ﬁ" 2 v ( ) K ﬁi: ( )

S\
RV
e
F.-ﬁ
Ak
&
D
o
N
i

R fEte s 21

B EE |Fama (60 2 7 T

R e

\

60 =

v 2
Eat
A=
R
3%
B
Tk
5
)
TR
T
[
[N
(SN

Tk %

o JEE o
RE L [m [60 2 7 o
E L E 3
1=k %5 &
e > Flig
g R E
BE e
et % B AR |60 o T TR (5
;‘1&;“ i b %"z_;"é?
1= e
A ERE |4 f g (25-30 Tt a3 o) % PR T
P % #2102 X
Fx b oo 2
#A BER Lo G AT IC P4 R 3
& B p o EE AT ¥ o
TR
2 A BB (60 2 7 i 21

T ak b




L ‘ & OB . ¥y 2 o o T R
';; ’?;:“*_ & T | B j’; i“: e | AREE
£ (%) (%)
AN
o RIE o
EflE AL 60 2T AR 18 30
ey ik b F
1=x %%
s > F g
L
BRI o
A2 |®REPS 6027 WA 21 6 LB
i) %k b % oo
A5 AE | d AR |25-30 AT 3 =% FE R 1
A P A ZEg 1o * oo
R oo B o
3 E % 8 & (81-90 u s = (7T R R IE S
5 2 7 (45 - YEEF
AW H ¥a 3 % TRE M
#®) AR X P o
¥ R 15
ANAY N ]
2 fsEk
R
BRE o
Th o Bk 602 T AW 3 L oy
X wf b T4 R
Z ] =x * oy i
CAE T
LT
o) B ﬁ?
-2 |
Bl
2. WE(S
Eli b
k3
o R
B oo
" s s 160 o 7 e s 14 Y5 {519




kb
L2

Ay
vy

\ W E S
/{E_,/ : T g‘
'ﬁ ﬁé S ﬁ% rpEy | B | ey | AR EE
- - H B S|

(=) (%)

ko
A

Ik

M

& (2 =5 E?lj“//Tf%\,ﬂ ¥ B,
®Ew 10 = TR M

#*

1

A
ERE=EF q < Hp o

N

e

R e

wht
=
8
B
£
==

60 2 7 i 21

Fete i [60 2 7 SETRD

wht
=y

16(%) (wiw) 7 £ = ka4 H (SG)

B
N

& 2
fedp | AAEA

it | pd e it

{ S T e
PR e | BB Les | | TR T
S IS s i E

&
\
e}
R
|
YA 1

2 (=) (=)
kfe |[fedsE (04 2 (3,000 10 0L
7 Y E R
a5 8 2
G s




== E || |F2R
1:'47: ff’% E g ﬁfz‘ i prEp| IR ’:w?;i i&’;f Jcdp | AR EE
AL T O S Sl R
B4 % H%F 0.2-05 3,000 [T A A7 k% 21
B 2 PE B 45 2 =
z/’;e,_? o
3 HIE4E (0.25- (4,000 | T A7 21 WA
0.75 2 T AH ik oo
T PR 405 * A EAF o
z/’;e,_? o
3 @] 5 48 |0.3-1 23,000 (% A7 21 WA
7 PE R 4% ik oo
Z o F g o
Wk |EME4E 0.25- (4,000 |B T A7 21 WA
0.75 2 THE g oo
T PF R 455 * oA K
W E |A[B % |0.3-1 2(3,000 [T AHFA(7 21 WA
T PF R s i o
%o ¥ K
i
L3 w7 A4 |0.2-0.3 |4000 (T AFAT 15
e g 2T PR 4
F A # .
FAte |¥7 A% 0.06- (4000 |T AT 15
) 0.25 = PR 4o

7 # .

EE (@ A4E (0.06- (4000 [T AFA(T 15 | A

0.25 = P 4o Jyeih 9 =

T ¥ (585
15+) @&
Ak %{;jégg o

Hi  |[PAN 006- 4000 |TAFZAT 15 | ¥ 5sk

0.25 = = Joi 9 %

T ¥ (R85
15+) @&
ik F EE 1Y
£ %’\ﬁ: £ -ﬁ
'5“; °

e | &4 (0.2-05 3,000 |TAFL|T k% 9 g




o ] ) wE || [ aE
':47' ’fﬁ* & Tf% | R ’:M% iwf el | LR EAR
O FF | e | PE SN I EY
&g PR e 2 = BB o
;_Aé'g? o
L3 (#7 A4F |0.2-0.3 4,000 (T 4B AT 6
o E N PR 4
F A (27 A4 0.06- 4,000 (T A AT 15 Fofem 9 %
) 0.25 = P 4 (K8
T 2 o 15 % ) &
i
¥ |¥7 A% 0.06- |4000 |TAEFA|T7 15 T E F R
0.25 2 P 4% Jea 9 =
T % o (58
15 =) i%
i
B (27 A7 |0.06- |4,000 [T AFA|T 15 T E F AR
0.25 2 P 4% Joa 9 =
T % o (R
15 =) iz
L2
WE |7 A% |0.06-  |4000 [T AFEALT 15 ) E R
0.25 = P 4 Jeih 9 =
T o (K5
152 ) iz
JL -
2% kA% (02-05 (3,000 |2 AFA|T 4 21
a0 PR 4% 2 =
B o
WX % s 0.2-05 (3,000 [T AEA(T7 5 21
X P 4 2 =%
jégg o
B~ |#h4E |0.2-05 (3,000 [T AFE4|7 % 21
& 2 P 4% 2 =%
B o
iefl % B ddE |0.2-05 (3,000 | A7 7
B~ N PR 4o
'/é#;:? °
AFEA B R4 |0.4-0.6 (3,000 [T AFA|T 9




o ] ) wE || [ aE
A L P i PR S i R ew | g | we
- - 2 R S (=) R (=)
&g PR 4%
B E% %3 02-05 (3,000 [T A7 A% 6
N PR 4% 2 =%
'7"_&5{? o
A% HE % &%E |0.4-0.6 (3,000 [T AEA|T 9
&g PR 4%
%—%ﬂ °
A% HE|42E R |0.4-0.6 (3,000 [T AF AT 9
& A 2=
4% [H 4% 1(06-1.3 |1,500 |T A2 |7 10
N B PN [
4 E |4 5% 0.1-0.3 3,000 | A7 10
A PR s
" o
AR &5 % (0.2-0.7 3,000 |ZAFEAT 10
&g PR 4%
" o
&4 | 43 |05-07 (1,500 [T AE 2|7 10
SR o PR 4
o
A% |A]5#% |03-05 (3,000 [T AFA7 10
N PR 4%
" o
XA HB# |0.2-05 (3,000 [T AFA(T 10
A 2=
o
¥y 44 (0.7-1.3 |1,500 (T A 4|7 10
S oA [
o
¥E A5 4 |0.2-05 (4,000 [T HFA|T 7
N PR 4o
E£F% P44 05-1.0 (3,000 | AF2 21
5 20T PR 4%




& LN R {;;;;; L o &R
G EE S G PR T IR i I T P
- - 2 R S (%) SE AR ()
gje,g o
%  |E4E4 (0.3-05 4,000 |HRAmEE|7 6
~T T A
%4 pER
4% B o
% |A]5 % (0.3-0.7 3,000 |ZHFEAT 6
“T PF R 455
g;g o
A &5 % |0.2-0.83(3,000 |F AF A7 9
# % % a PR A
g;g o
# #+ & |0.6-0.8 (2,000 | AHEZ |7 9
o PR 4G
g;g o
BLE L |45 48 |0.2-0.83(3,000 [T AHE 4|7 9
HE* g & PR s
jz_.c,fg °
¥ A5 %8 |0.2-0.83|3,000 | & F 2|7 9
o B 45
jz_.c,fg °
“x  |#h#F (0.2-04 (3,000 |T AHEA|T LY S
o P 4 (R
% - W E A
o fEET
RIFE o
) ¥7 547 0.1-0.3 4,000 |T A 2|7 21
29 PE B 4%
B o
A% |15 947 (0205 (3,000 |TAFALT g Ml =
Bt & P 4 g o
jégg °
£ 4% (A5 % (0.2-05 (3,000 [T AFA|7 o R
ion T PR 4o Higr o
B o
LoF |EESE 0.25- (4,000 |[EF T A |7 21
0.75 = TaAFA
T P s




oy Sl ! . wE | | F2E
R s T§:@?%$ @m4j§ R AEEET:
i T | @
;_Aé'g’o
LE &84 0.3-1 (3,000 |F A 2|7 21
T PR 4
;_Aé'g’o
3 ¥IE4E 0.25- [4,000 |# 5|7 21 i Al
0.75 = T A r oo
T P s
fj;gf‘o
r3 [ %% [0.25 2 4,000 |f Y 4 HF 21
S T ThHEA
PR b
I3 A5 4 (0.3-1 2(3,000 [T AHFAT 21 Uil AR
T P s B oo
+ ¥  |B&iF (02-05 3,000 [T AEA|T B3 21
& P 4 2 %
jz_.c,fgo
b % |#7 A% (0.1-0.3 4,000 |% AF 4|7 21
o PR e
B o
vert |5 4 4 (05-0.7 (1,500 |2 AF 4|7 d@ 28 g Al ™
k- P PR e 2 = Hir oo
jz_.c,fgo
T |44 (0507 1500 (T AF|T @ 28 WA B | ASE AT
AF |2 P 4 2 =% i o |H
& o




